Name: ____________________________________________________________________________		Period: ________

2.4 Special Cases
[image: ]








[image: ]







[image: ][image: ]

















[image: ]















[image: ]


	

[image: ][image: ]

















[bookmark: _GoBack][image: ][image: ][image: ][image: ]
image6.png
Types of Solutions Example
1. One Solution y=-25
2. No Solution

- . 12=9
3. Infinitely Many Solutions

7=17
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Got It?
Solve 4(n-2)-1=5n-n+9.
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Example
Solve 4 +w + 5w = 3(2w + 1.6).
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Got It?

At what point in the solution below do you first recognize that the
equation has infinitely many solutions? Explain.

9+4p-2=p+3p+7

Use the Commutative Property. 9-2+4p=p+3p+7
Combine like terms. 7+4p=4p+7
Subtract 4p from each side. 7+4p-4p=4dp-dp+7

Combine like terms.
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Got It?

At what point in the solution below do you first recognize that the
equation has no solution? Explain.

4n-2)-1=5n-n+9
Use the Distributive Property. 4n-8-17=5n-n+9
Combine like terms. 4n-9 = 4n+9
Subtract 4n from each side. 4n-4n-9 = 4n-4n+9
Combine like terms. 0-9 =0+9

Simplify. -9%9 x
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Got It?

Solve r=5r-3r-
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Example
Solve 0.25(4x - 2) =x - 3.
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One Solution

A linear equation in one variable has one solution if only one value of
the variable makes the equation true.

In this situation, you transform the original equation into simpler
equivalent equations until the variable is alone on one side of the
equal sign, and a number is alone on the other. For example:

57.9 - 98.2y = 303.4
57.9 —57.9 - 98.2y = 303.4 - 57.9

-98.2y = 245.5
-98.2y 2455
-982 ~-98.2

y=-25 The equation has one solution.
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Example
Use the Distributive Property to solve 4(8 - ¢) = 8¢ + 16 - 6c..
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Infinitely Many Solutions
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No Solution
A linear equation in one variable has no solution if no value of the
variable makes the two sides of the equation equal.

You know that an equation has no solution when, as you solve for the
variable, you get a false statement. For example:

3(2g+4)=6g+9
6g+12=6g+9
b6g —6g+12=6g-6g+9
12=9x False statement
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Infinitely Many Solutions

A linear equation in one variable has infinitely many solutions if any
value of the variable makes the two sides of the equation equal.

You know that an equation has infinitely many solutions when, as you
solve for the variable, you get a true statement. For example:

9+4p-2=p+3p+7
9-2+4p=p+3p+7
7+4p=4p+7
7+4p —4p=4p-4p +7
7=7 « True statement
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